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Six Times Tables

0x6=0 5x6=30 10X 6 =60
1X6=6 6X6=36 11 X6 =66
2X6=12 (X6=42 12X6=172
3X6=18 8X6=48
4X6-=24 9%x6=>5

Have a go at some questions:

1) 5x6 Cool 1« fact: All the humbers in
2) 9X6 the 6 X tables can also be divided
3) 2x6 by 3!

4) 11x6

5) 7x6

Stretch your brain!

1) There are 6 potato bags and [ plant 8 potatoes ih each bag. How many
potatoes have [ planted? Fill in the humbers: e—
S

2) 3 zebras in a zoo each have 6 black strires. How many black strires do
they have altogether? Fill in the numbers:
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